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THE KINDS OF VERB IONS IN TERMS OF STRUCTURE
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ABSTRACT

This paper introduces the verb with its three ki the Persian language, in the beginning | éefire word
(verb), and after that | will differentiate betwetre verb and its three parties (simple, compoand, the past) and after

that | will explain the hallmarks for every sectiand how to differentiate between the verb andiits his previous kinds.
KEYWORDS: Simple Verb, Compound Verb, Ability for Extension

INTRODUCTION
BASIC DEFINITIONS AND BACKGROUND
The Verb

Its Definition: What is indicated in the same sense that is as®ociwith the same one of the three times?

The word is taken from the events of the namesgfsaurces.
The verb is the verb ion and in the grammar a veti@vn to induce and it's tense and it's pluratbge

And the verb in the Persian language in the terhstructure to three kinds: simple verb, compouerb, and the
mark was explained (Kheyam Bour) the compound &t he specialized from the descriptive and semdrdid,
and | consider the past tense a branch from thepoand verb, and the complicated verb consideredeta verb that
created from the past tense or a name, and in @nBtlonounce it is a verb that consists of two pumees but he has one

concept.

For example the first kind:

Table 1
&, e | come back <) b
B went by
J went down | ) cé, 58
uag « ;5 | stand Cuuld
From the examples of the second kind:
Table 2
s request) 3 S b
<) «(Ji8 | Fought, made war| 28 Sia
Uayl Slow down EPESEY
Gadial i | Smell, breath 3 S 5
»=8 | won 28 e
Lo fall down ) )
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As we see every example of the second kind canefstwo words, the first of them is in the pladepoevious
exhaust which shall be added to the formulatiorthef verb but these two pronounces doesn't have ithame one
definition, and that because definition of eachnpunce separately wasn't meant. For this reasom#anings of this

color of verbs are often expressed in some languagte simple verbs, as in this examples:

Table 3
Contrast | Contrastin The Persian
in French English Verb
Regareder| Sight (S ol&S
Uayl Slow down PSS
Gadil i | Smell, breath A8,
el won 2 S e
dadi fall down )5 ()
Pleurer crying (i ) S 49 S
Croire Doubt (CRGIAL) S Ghas
Ecouter Listenening O G es

The doctor Bateny said about the compound vetisifook, "The compound verbs considered one angrims
of significance and meaning, it is in terms of mmijogical structure considered as two partiesa#t two different colors
from behavior. The verb " "4 % (Deceiving) for example is equal from the t terofisneaning for the verb" ol y 8 "
able to be classified — from the morphological terimto two parties; the first partz 2" may be a center for a nominal,
it comes in its imp verb continued its related; dese the first part of this compound verbs ablegiaised in the form of
nominal group. Thus both of the first and the selcgart — from the classification term and the moippical

class — doesn't belong to one class. As an examphe sentence "td's> cu @1, )
sl s Dlag ) 5o

(you deceived him) named as the non verb firgrt p it "completion”. And that martyrdom true alf Persian

compound verbs

However, and regardless of the opinions that watimeed above, and for looking for the prevailiqgrdon and
it can filter the type of verb from the structurggmally by looking as its root in the presentdtmain subject for it).

Based on that if it was the root of the verb in phesent simple
(135 Pl 50 (s
This verb considered to be simple, and if it thetraf the verb in present content of its past, thvencalled that

verb the past, and if we found the root of predentthe verb is compound, then the verb that timecompound,

for example

(a8 58) AL sa5 o015 (May be heard ) it's root in present'isis (the root of verb consist of its past) — the verb

has past.

Execution {25 038 slacl) (had been executed): it's root in present'is #lac! (the'root of the compound verb)

— the compound verb.

A e Al g 455 e Ll gl B35 il 15 541(Y)
o] Al gy o i i Led Ay il 5an 5 sl 1oy 5al(%)
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The past verbs comes through installing one ofprecedents (a, ..... ) With the past tense. Of cothise
installation gives the verb a new, often new megyim other times the simple verb meaning stayt aswithout

changing, the verb in all conditions — a past tdosexample

Table 4
<4 Throw Al
AT g | fall out Sl p
oud el la Tour Cuis
e Back Qs b
5 Read, call| il
(sl Recall il 54
&0 raise il )
&0 raise Gl 8l
Table 5

=l e | counted| 2ed
aal e counted | el xn

As we mentioned previously, the ruling of the verbst be in sentence ; because the one verb maybpecsto

many and different conditions from sentence to lagiot

The history of verbs of such as appendages deresatis we mentioned previously — has two kinds:

The First Kind: Pluses morphological; and that which changesadfscbf morphological following the affection

of its installation (created to rank)

The Second Kind: Pluses derivative; and that it doesn't changentbephological class after its installation

(consisting of the word).

According to that, the past of the verbs are ghoddrivatives.

Determining the compound verb and its recognit®the most difficult and complicated things thatdékted to
the structure of the verb, that is because itusags been doubt for determining for the inherit vof the verb;

Is it a part of this verb ? For that here is thibofeing standards:

Ability of the inherit word of the verb for extendj (it means that it accepts follower recently -tsnend — also
the plural mark or, the indefinite mark, or the kar

Ability of the grammatical analysis (meaning thaligb for the following locations ascribed to it Hetante,
predicate, complement, attribute, constraint, vatdc advocated).

Or in another statement: If there is doubt arooné of the sentence about the pervious word ofvirb;

is it considered a part from this verb or not; fwihe meaning: is this verb compound or simple)tHe word before the

verb be examined, and see if this word acceptéanstntence itself — extension, And if it accepggaanmatical analysis,

or not? . If the answer proved, this is a referethag this word is not a part from the verb, anat tis verb considered
simple. And in other this state the verb will bengmund.
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« Example 1

(a3 a3)) "2y = can ' (he is speaking). The worsh~ "Letter” here is able for extension and widening, aan
say for example DI sty 4y) '3y e 28 s J (wub (he is speaking with kind words), or we can say

Gaaty ) "3y e b s ) (LIS OIS (he is speaking too much

Also the word "Letter" <~ Has grammatical analysis in the sentence (thatilme of the site). The conclusion

from these two that the verb of this sentencewiot " 33 ., but the verb of the sentence"is) = only.

Given that because the root of the present ferhrb consists of onedi# " (¢)) it is then the verb"x) o "

simple not compound.
e« Example 2

"Americian sedam ra execution (Wia SVl axl)  Mua S el )y e S Mt
(The Americans executed Sadam), here we find beatvord "Execution™alx=! fiot able to be extend, and not having any
grammatical analysis in the sentence. The word ¢Hixen" "»l2="then is a part of the verb. When the root of ¥beb in

the present is compound (ExecutiofiX ¢l»=! , We consider the verb itself compound.
* Note

This test which we need to know from it if the naerb ual element is able to be extend or not, i$tnwe conduct

in the sentence itself that we studying, not intha@osentence ? And not in isolation from wholesale

« "Sadam people besyari ra execution Kpel oe 188 daa asel) M a1 ol AE
(Sadam had exceuted a lot of people). If we saatladh people besyari ra execution hakeépdé e 33 alaa "

"2Sk alael this is wrong. The verb will bg_s ola=! (Execution) then it is a compound verb.

e "Sadam dar arak execution§_all & alae] Zuleny alaa &l8) "3 S alre) 3 e 1 plaa"(sadam made an execution process
in Iraq) and if we said "Sadam dar Iraq executiarkrd™ 3 =l & alac) Cllers alaa 28) "3 S alae) Blse 3 alaa”

(sadam made execution processes in Iraq) it wasthgn, the verh(2_< i3 simple then.

Of course it seems that the standard "ability faersion” can't be described with Inclusiveness lanefing ;
that because that we chance a lot to find the varbthe same time that the verb is compound — @oebwith a word is
able to extend — and that.qtSs Jikll (JS) "3 S w4 S4s (The baby was crying). The verb for examplexas s 4 Sas "
(Ra Sy Jakll () "a <" (the baby was crying too much.

It is worth mentioning here that it is impossibhat we consider that for the concept of meaningniess in this
condition ; because when we study the kind of vieoln which "wording and structure” there is no gdor proving.
Then it is not right to consider that the verb hisreompound depending on that it is: the verb #wedword combining

with it has the same meaning in the sentence. "

* The verbs that consists of "additional letter + earar char verb er + verb" (it means the collectinegbs),
it considered compound verbs, for examplesll ce 18 sl & axsil adl) sy 28 4 gy oAl colaitla o ",

(he uses a lot of iron in the building).
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e The hiding meaning considered - from which the vesbucture — one compound verb, at:

(he is given by the people by decepticilall: 4ic Gulill 3 5 4df) "2 o pus 43 Casd 1 22 50 51" ).

* The compound verbs considered one unit from whiehuerb structure, but it constitutes more than fiom
which the morphological structure. As example tleebwS .« JIS™ (work) in one unit (compound verb) from
which the structure and verb ual wording, alsdéré is two words from which the morphological stane and

wording (the unit of language¥s -« + J\
e The compound verb has four kinds:
* Non verb verb + verb ual verb : " (cryigg<) " S 4w X )
« The hiding meaning statements: " (given by decaptilall 2 ) "2 o ju 45 Cova”
e The verb ual statements: additional letter + namer® ual element (=) "alél Eig, 50 "
» Additional letter + name + pervious verb: "azba daord" (weak, kill.) "
(B ccanial) "2yl 5oL
Methods to Differentiate between the Compound andhe SimpleVerb

There is a lot of methods to differentiate betwdle® compound and the simple verb, and every orihaxe
methods useful and serviceable, that it can't msidered any one of them collective and preventiedore we mention

these methods we shall pay your attention for gromant thing:

The verb must be suit in the sentence, it shouwemnstudy in isolation of its sentence; the verlyia simple in
a sentence, but the verb itself considered compauadother sentence, according to its combinatigh different parts

and elements. As example the védls «xiz) "2 X " (tnake, do) in the following sentences :
(s nd) = (Gl 4Sedl) "3S Cizmam )y o (sl

Weakened by disease - (simple vefb¥ e dai) -(,e¥l 4bina S &) "3 € ol b (s 4 1) g pase o "

(hi 've mentioned his friend about it) - (composigzb).

As well as the verlgxi) "« < "(take) in the phrasefls »= G3ix) "<é S s ™(fed my chest) differs from it in

the phrase: ((awai  wal  oli) "céd S ), s sl (extradite Ahmad share), or in the phrase:
(0all e (=l dk il call) e <) 252 pul (police arrested the thief.) The verb'i s "ih the first sentence in the
sense:(uyss gora  Gha) Mad oS (narrowed my chest and sadness), while the verb

"((Sle dean 5 2a0) "oyl s MIn the second phrase medls S " ™ (taking or earned), while in the third sententhe
verb ™ (arrested)s S ", (Ll ill) "a S Sy

From these examples, we note that these verb g samantic differences (significant) among thenr, inoverb
ually one. The verk=é S "craft" in the first sentence is verb ually nes@y, : while transitive verb is in effect for tlaest

two sentences.

In the morphological and grammatical rules basedhenstructural locate the word and meaning of thaitd

associated with other words relationship calledzomtal or structural relationship. For example:
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(my head hit a rocks s (ol Ciaslual) "2 )53 Sivag o)
™" (Naspeny robga si i) "a)5a (e 4y Gl ™)
"(drinking baby milk(call Jahall c8) "a )8 jud S &™)

In sentence numbeX] (s> <iw 41 2 1) "relatted verb Y555 "for each of the words (hasll) "Sa" 5 (el M) " ™"

(the head), "(stone) has made the verb verb uatignaposite hidden At the wholesale numibr' we find that the verb

"a,sa"conjugation” with the word(«s) "o "tress" (dress) has founded verb ually transgretsa simple integral, so

the verb here really simple sense “. (fit). No.if¢he sentenceC ", the verb'>, s conjugation” the wordszé "(milk),"

Sa58" (the child) to make a simple reverb ion to thesefffof the transgressor.(&4) "wis " teaning: "(drink), you get

the significance of this tries

SUGGESTED METHODS TO DISTINGUISH SIMPLE AND COMPOUN D VERB

Quad parts in sentences containing object andriateifj signed by the verb or the name of the recipis fverb
did not verb before him and integral effect, themedy it is, then - with the verb ual - verb uatiye boat.

For example:

" (Ahmed borrowed money from meyill e seal (i 8l) " < S (m F e )1 Jse daal
Verb ive object integral composite verb

"(Hala chose to name her son YoussuBu ol e alla & jlal) 2,8 Gl (6 sl ) G g oU alla

L by the integral composite verb

"(thief stole money from the bank)

(i) (e 1 5o alll (3 ) "2 503 8 pon iy 3115 L U "
Composite verb

Quad parts in sentences containing complementatyf@tboard, or its effect on the armrest, so iihot the
non-morphological (primary) site is located in angdementary or Missned, then surely it would bet parthe

verb ive compound; This is about:

" e ab sl plsie 4 dosbiye Sl

S e Jad Yise Aila) Ci s e gana aaie i

(e aalS g (sl s 05 S el OS)

Tyro integral set datum add a composite verb pemphember as one of the heroes gone)
(Qle 4tk 28 EiS) "o 50358 JS Jile |5l e "

S pa Jab dea 4y Jgada ol

Phrases hidden inclusions, to do if every ones€dnstituent parts has a special meaning is dgifferent from

the general meaning of the term, kidney, thesesaisrare then always verb a boat. Such as:
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(I thought | had a reasonable person)

Tyro integral composite verb 4 - susceptibilitythe effect of: If he came in by the combined effgcwholesale

the verb part be the highest compound nor inegte®lich as
("Ahmad read this bOOK=LSH 138 eal §8) "2 S dallas |5 QS () 2aal ™)
(The thief stole the money)
(J15aY) Galll (3 s ) " 2 gad iy |5 a Js0 230"
("Biting an apple)
(il pad) "33 SIS ) e
("Hussein called for freedom)
(Boadl Opes (021) " Al 8 1 (Sal ) (e ™
"(Fittest mechanical car)
(B bal) (SalSsall mheal) "3 S ppeni 1) e sil SlSa
(I've cheated his friend.)
(e gad all) "ol b)) Gl 5"

However, in these kinds of sentences the verb &sdcwith the descriptive part verb simple, ancobe of the

previous like (Ahmed this book beautiful)
(SRUSY 138 daaf (533) M8 il 1 QUK ) deal”
"Squandered money thiéf) s¥) galll s "agais L1yl Jsai ")
(Make a quick car mechanic)
(B Bkl (Sl Jaa) M2 S 5 a8l e 581 LIS

e Be a verb meaning "(makgks) "xla_S :'If we can replace by wholesale verb" (mdkey) "xl2 < sd that does
not change meaning of the sentence, then the \estdetlly simple, and be part of the previous "doenth

towards:

(el e LE al) (212 9) M2 pai a8 | alaa ¢ el
("Council exhilarating poet)

(o) el o A) (2l 8=) Mo S Gl A |l asla a5l
“(Torrent ruined houses)

Rest

Tyro object datum verb

Jab diwa 4y Jgnda Iaia A Mg B 0 38 e dy o)
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(Slile axiils 3 EiiS)
(I thought | had a reasonable person)

+ Negative of verb, and the addition of the wor&/) "z» " (4ny) before the non- morphological (basic) and
increasing J at the end: If Khamrna doubt as weelhaverb as simple or compound, should we exded, add the
word" irritated " by the non- morphological, beyorttie reported wholesale simple verb meaning ndjou

but it was a boat ; such as

(o585 4alad dal (e laga deal J3)" 3 S (5 353 (5 55 51 el

(Ahmad exert effort for success and victory).

Effect by the simple verb

If we were rejected previous sentence:

(anlad Jal (e e (sf 2eal Ja ) "o L300 g 253 55w s n 2ea) "

(" "Ahmad did not make any effort to success). ¥ée that the standard extension capability (abofjyexist

over here, where he came of (the letter Z) afterwiord «(2¢>) "5 ™ Evanescence " (effort), as well as the reported

sentence makes perfect sense and common usage.

In the following sentencefd«_ al cules al) "a3 S sl ), a3 o« ™ (I've learned my lesson), we cannot say.» »
S Ss el aa 1"t iS." PE.YN the verb ™a8 S 2L ™ verb

It is draw attention that it should not limit theeuof Checked susceptibility to follow (for an exg®n) installed
on formulas only. If it was already installed is @ompound, it must remain in its compound alstedxin other formulas
should not be forgotten that the compound verbciwiis the source of his compound, which is the kgsar similarity

Authority vehicle as well.

»  Susceptibility to Replace: We can, in some cases to replace the verb rekattother that has the same meaning;

example:

. (Ahmad speaking good words)
(b S deal Gaad ) ") lls s el

e " (Ahmad spoke words good)
(b WIS daal it ) "eS s Caa des)

» " (Ahmad spoke words good.)
(b IS deal diaat) "ol Gl s s 2eal

We see that the two verbs!'4,5l b "5 "< " dre equal to the verb," the same meaning. And then have
the verb "2 " in the sentence number "A" really simple (altbbuve have entered this - somewhat - in the conakpt

semantic. (Another example: a) " (i've talked with)

e G2 ABl) M 3 Sdabaa el gl "
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e " (I've made a speech with me)
(g Sy alﬁ A1) " A alad) daliaa G by )

The verb "™ a5"" in the sentence number "A" is the same meaninth@fverbils skl " shall be deemed verb
ually simple. Just as the verb meanin@sd) "l s" (Making "(Ja :gf) (3&=) “cadst (je: become), it is
(asking for Holder), so the verb (verb) If the sefthe () "2.5" ..., completed), it is then always, simple andgaassor

to effect it, and it is the former (whether theg arname or description) effect of the sentence

Another example:

e " (Ahmad swear to right
(G daaf amdl) " 358 S gu daa

e " (Ahmad swear to right)
(G 2ani andi)" 38 A XS g daal "

* ("Ahmad swear to right)
(G dani anidl) " 250 sla LS g daa)

The verb " "a,5a" " came the sense of <"yl sla 4" and" a5 4" " It is a simple verb, and the longer the word

"" A g (section) effect of that verb

General what happens mixing between the site eiffieatidition to the verb and its accompanying Vegbveen
the boat. In the sense that the student is lodatdte thought that the effect of a sentence ishtgbest part or descriptive
(basic) of the verb, and this is the wrong plated cannot - using the base substitution and esprade - that we consider
the developed part by the effect of the verb, teebywhich verb will be with us a boat. In someesagoo - but for

scarcity - be fleecing Advanced complementary ®rthme; manner:
(0B o ikl Jad) " o) (e ) Ay S 98" = " 3 0R (pa Ay SagS = 308 (e SagS" "

(The baby fell on the ground.) The verhiss" "simple, and the word{ua.¥l) "o (Earth) at the site of
complement, has been deleted appearance to itsnpeesmeaning

As a whole:it has to be - in order to distinguish simple vebthe boat - three issues of concern

e Taking into Account the Standard Morphological: The sense that the use of the base susceptitnlityplace.
In other words: we can put other appropriate verisiin the position of the verb, which we are coesing, as

well as other examples that come instead of theananorphological basis (whether a name or desoript
 Example

(It made me tired_s 43wa |« 451 )"

(Poor, tirech s )

(Asphyxiationaisa )

(Incapacitated st )
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(Debtogs=s i )

If the content of the replacement missed and cam&vith other examples do not make meaninglesseseef
the verb, which we then be simple. If it was a cosife of what we can do to change the previousni{nal and verb ual)

in the composite verb is indivisible, and not bbjsat to separate them, and do not replacéables A Lia )

Example: "(an accident bitten).

It is not possible to come instead of" "any waadtimaintains the meaning of the sentence andhjifdations,

except in one case, which is also the word" fage) tHis is the term used is the word" Roy " in teentence alike.

Shall be done permission a boat

e Taking into account the standard grammar: (abiiityverb earlier part of the site Bedouin, and itdity to

follow).

» Taking into account the standard voice: the usanyfverb ors, quietly and in determining the siipfi of the
verb or installed. If we can do or stop by the iearpart of the verb, it would be a simple verb owlotedly.
In order to understand how to play or stop quietlie in determining the simplicity of the verb mistalled we

will use a simple approach and scientifically e sitean the use of dependency (repetitions)
(" simple verb (1,8) — (Al sl 380) " o jlags 3 S 8 law ) 0 )

(Al | i IS Earadl ) "l A 3 S QA 15 Asd (e

(I've ruined everything spoiled ..) —

(: simple verb) a2.5)

Had a compound verb what we can never repeat #rappit after the verb. At the foundation at gite of the
dependency Missed, who repeated after the vertwaith concludes the sentence, and must be beyotidllfaf silence

and fully. The compound in the verb, this is noggible; towards
(" sas .2 su ¢ 4 Bad event has occurred) - (: a composite Verb
(48 i S0 " He does not understand me (-) : a composite.yerb

Another word; is that the names and attributeshahate it added competent and who have complemgritamot
at all used in the formulation of the compound verb

CONCLUSIONS

This paper presented the verb with its three kindghe Persian language, in the beginning | defiree word
(verb), and after that this paper differentiatetileen the verb and its three parties (simple, camgpand the past) and
after that | will explain the hallmarks for evergcsion and how to differentiate between the verd issmand his previous
kinds.

In this paper we introduced methods to differeptia¢tween the compound and the simple verb anckhsome

suggested methods to distinguish simple and contpuerb.
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